diff BPM 4aY (nm)

Maindet weighted avg, local errors - diff BPM 4aY

Mean = 0.3 +- 1.1 nm Chi2/NDOF=4.9/5 Probability = 0.43

6

N

_|III|III|III|III|III|III|III|I

N

crex_slow_control



1072

1073

Maindet weighted mean, self pull - diff BPM 4aY

Maindet weighted mean, self pul

Entries

Mean

Std Dev

0.04363 + 0.4568

1.119 + 0.323

Underflow

Overflow

Pull




diff BPM 4aY (nm)

»

N

_|III|III|III|III|III|III|III|II

N

Self weighted diff BPM 4aY

x? [ ndf

p0O

7.076/5
0.9317 + 0.9088
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1073

Self weighted pull - diff BPM 4aY

Self weighted pull

Entries 6

Mean  —0.2133 * 0.4347

Std Dev  1.065 + 0.3074

Underflow 0
Overflow 0
T |
1.5

Pull




diff BPM 4aY (nm)

Maindet weighted diff BPM 4aY

X2 [ ndf

p0

4.885/5
0.3244 +1.138
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1073

Maindet weighted pull - diff BPM 4aY

Maindet weighted pull

Entries 6

Mean -0.09019 * 0.3665

Std Dev  0.8978 + 0.2592

Underflow 0

Overflow 0

1.5
Pull




diff BPM 4aY (nm)

Equally weighted diff BPM 4aY

X2 [ ndf
pO

4.811/5
—-0.2459 + 1.193
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3

4
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1073

Equally weighted pull - diff BPM 4aY

Equally weighted pull

Entries 6

Mean —3.471e-09 * 0.3656

Std Dev 0.8955 + 0.2585

Underflow 0

Overflow 0

15
Pull
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